
Horisont Safety Systems AB • Ängsgatan 11 •  828 32 Edsbyn
info@horisontsafety.se 

Telefon: +46 (0) 271-212 75 ( Växel)
www.horisontsafety.se

 Art. No: HP11426
Adjustable bracket for roof edges, attahced using strong 
treaded pole trough hole Ø20mm in the truss.

Inc. Accessories Rear Support & Supportleg

Handles big variations on the truss and the ad-
justable post holder gives big flexebilety when 
placing your edge protection. 

One of the accessories Rear suppport 
HP11490 or Supportleg HP11449 must be 
used, se following pages.

Hot dip galvanised.

Complies with EN13374 Class A, B och C used 
with accessories.

6

7

5

1

3
2

4

8

ISOMETRIC VIEW

T
h

is
 d

o
c
u

m
e

n
t 

c
o

n
ta

in
s
 c

o
n

fi
d

e
n

ti
a

l 
a

n
d

 p
ro

p
ri

e
ra

ry
 i
n

fo
rm

a
ti
o

n
th

a
t 

c
a

n
n

o
t 

b
e

 r
e

p
ro

d
u

c
e

d
 o

r 
d

iv
u

lg
e

d
, 

in
 w

h
o

le
 o

r 
in

 p
a

rt
, 

w
it
h

o
u

t 
w

ri
tt

e
n

 a
u

th
o

ri
z
a

ti
o

n
 f

ro
m

 W
O

R
X

S
A

F
E

.

CHK'D

DRAWN

[mm]

Grinding scratches should be avoided.
Remaining scale should not exist, especially if the surfaces will be zinc plated/electro-galvanized. 
Welding sparks shall not be of the size and shape that cutting or catching/tearing clothes is possible.   WELDS: ISO 13920-AF

WORXSAFE

WEIGHT: [kg] 2015-11-05

00

EAVES ATTACHMENT

831426

2015-11-05

2015-11-05

ML

PH

7.93

A3

SHEET 1 OF 1SCALE:1:5

DWG NO.

TITLE:

REVISIONDO NOT SCALE DRAWING

MATERIAL: DATE

APPV'D

MFG

Q.A

SIGNATURENAME

FINISH:

Debur and break sharp edges.

   TOLERANCES:

   GEOMETRICAL: ISO 2768-cL

PJ

ITEM NO. PART NUMBER DESCRIPTION QTY.

1 831435 Tube 1

2 831436 1

3 831428 1

4 831442 1

5  - ISO 4017 - M6 x 16-8.8-Stainless steel A2 1

6  - ISO 7040-M6-8.8-Stainless steel A2 1

7  - ISO 7040-M12-8.8-Stainless steel 2
8  - ISO 4014 - M12 x 60 x 30-8.8-Stainless steel A2 2

 2
71

 

 4
44

 

 995 

Technical data and product info.

Weight: 8,5kg

EAVES ATTACHMENT Page 1/3

Post holder can with advantage be rotaded for 
even more flexebility.



Horisont Safety Systems AB • Ängsgatan 11 •  828 32 Edsbyn
info@horisontsafety.se 

Telefon: +46 (0) 271-212 75 ( Växel)
www.horisontsafety.se

 Art. No: HP11490
REAR SUPPORT Accessorie for Eaves attachment HP11426 
for support against the truss as shown in picture.

Inc. Accessories Rear support & Supportleg

Telescoping design for versatility and easy 
installation.

Hot dip galvanised

Complies with EN13374 Class A, B och C when 
used on Eaves attachement.

 4
49

 

T
h

is
 d

o
c
u

m
e

n
t 

c
o

n
ta

in
s
 c

o
n

fi
d

e
n

ti
a

l 
a

n
d

 p
ro

p
ri

e
ra

ry
 i
n

fo
rm

a
ti
o

n
th

a
t 

c
a

n
n

o
t 

b
e

 r
e

p
ro

d
u

c
e

d
 o

r 
d

iv
u

lg
e

d
, 

in
 w

h
o

le
 o

r 
in

 p
a

rt
, 

w
it
h

o
u

t 
w

ri
tt

e
n

 a
u

th
o

ri
z
a

ti
o

n
 f

ro
m

 W
O

R
X

S
A

F
E

.

WEIGHT: [kg]

831490

2015-12-01

2015-12-01

00

ML

A3

EAVES ATTACHMENT REAR SUPPORT
2.41

SHEET 1 OF 1

PH

SCALE:1:5

DWG NO.

TITLE:

REVISIONDO NOT SCALE DRAWING

MATERIAL: DATESIGNATURENAME

FINISH:

Q.A

MFG

APPV'D

CHK'D

DRAWN

[mm]

2015-12-01

   WELDS: ISO 13920-AF

Grinding scratches should be avoided.
Remaining scale should not exist, especially if the surfaces will be zinc plated/electro-galvanized. 
Welding sparks shall not be of the size and shape that cutting or catching/tearing clothes is possible.
Debur and break sharp edges.

   TOLERANCES:

   GEOMETRICAL: ISO 2768-cL

PJ

ITEM NO. PART NUMBER DESCRIPTION QTY.

1 831491 1

2 831494 1

3 831497 Cold sized welded tube 1

4 831499 Cold sized welded  tube 1

5  - ISO 4014 - M8 x 60-8.8-HDG 1

6  - ISO 4014 - M8 x 50-8.8-HDG 1

7  - ISO 7040-M8-8.8-BZP 3
8  - Shaft locking pin, ø8-BZP 1

9  - ISO 4017 - M8 x 16-8.8-HDG 1

10 831498 Wire ø2-400, Stainless steel 1

11 831236 Wire lock for ø2mm wire, aluminium 2

 103 

7

10

4

11

9

7

5 1

2

3

6

7

 289 

Technical data and product info

Weight: 2,4kg

Mounted Eaves attachment HP11426  with Rear 
support HP11490 gives a safe installation on your 

truss. 

The truss is drilled with  
Ø20mm

EAVES ATTACHMENT Page 2/3



Horisont Safety Systems AB • Ängsgatan 11 •  828 32 Edsbyn
info@horisontsafety.se 

Telefon: +46 (0) 271-212 75 ( Växel)
www.horisontsafety.se

 Art. No: HP11449
SUPPORTLEG Accessorie for Eaves attachment HP11426 
for support against the wall.

Inc. Accessories Rear support & Supportleg

Telescoping design for versatility and easy 
installation.

Hot dip galvanised.

Complies with EN13374 Class A, B och C when 
used on the Eaves attachement.

1

IS
O

M
ET

RI
C

 V
IE

W

2

This document contains confidential and proprierary information
that cannot be reproduced or divulged, in whole or in part, 
without written authorization from WORXSAFE.

20
15

-1
1-

05

00

SU
PP

O
RT

 L
EG

83
14

49

20
15

-1
1-

05

20
15

-1
1-

05

M
L

PH

3.
26

IS
O

 1
46

1,
 H

ot
 d

ip
 g

al
va

ni
ze

d

A
3

SH
EE

T 
1 

O
F 

1
SC

A
LE

:1
:2

D
W

G
 N

O
.

TIT
LE

:

RE
V

IS
IO

N
D

O
 N

O
T 

SC
A

LE
 D

RA
W

IN
G

M
A

TE
RI

A
L:

D
A

TE
SI

G
N

A
TU

RE
N

A
M

E

FIN
IS

H: Q
.A

M
FG

A
PP

V
'D

C
HK

'D

D
RA

W
N

[m
m

]

W
EI

G
HT

: [
kg

]

   
W

EL
D

S:
 IS

O
 1

39
20

-A
F

G
rin

di
ng

 sc
ra

tc
he

s s
ho

ul
d 

be
 a

vo
id

ed
.

Re
m

ai
ni

ng
 sc

al
e 

sh
ou

ld
 n

ot
 e

xis
t, 

es
pe

ci
al

ly
 if

 th
e 

su
rfa

ce
s w

ill 
be

 z
in

c 
pl

at
ed

/e
le

ct
ro

-g
al

va
ni

ze
d.

 
W

el
di

ng
 sp

ar
ks

 sh
al

l n
ot

 b
e 

of
 th

e 
siz

e 
an

d 
sh

ap
e 

th
at

 c
ut

tin
g 

or
 c

at
ch

in
g/

te
ar

in
g 

cl
ot

he
s i

s p
os

sib
le

.
D

eb
ur

 a
nd

 b
re

ak
 sh

ar
p 

ed
ge

s.

   
TO

LE
RA

N
C

ES
:

   
G

EO
M

ET
RI

C
A

L:
 IS

O
 2

76
8-

cL

PJ

ITE
M

 N
O

.
PA

RT
 N

UM
BE

R
D

ES
C

RI
PT

IO
N

Q
TY

.

1
83

14
51

Tu
be

1

2
83

14
50

Sh
ee

t m
et

al
1

A
ll s

id
es

 o
f I

te
m

1

2.
0

A
A

a3
C

M
ar

ki
ng

 m
us

t b
e 

vi
sib

le
 a

fte
r s

ur
fa

ce
 tr

ea
tm

en
t.

Technical data and product info.

Weight: 3,3kg

Le
ng

ht
 9

35
m

m

EAVES ATTACHMENT Page 3/3

Mounted Eaves attachment HP11426  with 
Supportleg HP11449 gives a safe installation on 

your truss. 

The truss is drilled with  
Ø20mm


